

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



If the Laplace Transform of f(t) and give oriest Initial Value Theoremi and L[fit] = F(s) then Lt [fit] = Lt [SF(s)] $t \rightarrow 0$ Paoof 1kkt, L[F'(t)] = SL[F(t)] - f(0)= SF(S) - FLO) $\Rightarrow SF(S) = L [f'(t)] + f(0)$ $SF(S) = \int e^{-St} f'(t) dt + f(0)$ Taking limit as s > 00 on both sides we get, Lt SF(S) = Lt S [est filt) dt + f(0)] = $\int_{s\to\infty}^{\infty} e^{-st} F'(t) dt + F(s)$ $= \int_{s \to \infty}^{\infty} L_{t} e^{st} F'(t) dt + f(0)$ = 0+ +10) = Lt f(b) t>0 Hence Lt flt) = Lt SF(S) tro Sro





Final Value Theorem: If the Laplace Transform of fit) and filt) orist and L[f(t)] = F(s) then Lt[f(t)] = Lt[sF(s)] $t \rightarrow 0$ kikt, L[F(t)] = SL[F(t)] - F(0)Brook! = SF(S) - FLO) \Rightarrow SF(S) = L[F(G)] + F(O) Taking himit Sto on both sides, we get Lt $[SF(S)] = Lt = \int_{-\infty}^{\infty} e^{St} f'(t) dt + f(s)^{2}$ Sto Sto = Sut est filt) dt + flo) = $\int p(t) dt + F(0)$ = [f(t)] + f(0) $= f(\infty) - f(0) + f(0) = \frac{1}{50}$ Hence Lt Fit = Lt [SF(S)] t->0 O verify the initial and final value the own for f(t)= Itet (sint tost) Sohn: F(s) = L [It et sint + et cost] = L(1) + L (sint) => st1 + L (uest) => st1 $= \frac{1}{5} \pm \left(\frac{1}{5^2 H}\right)_{S \rightarrow S H} \pm \left(\frac{1}{5^2 H}\right)_{S \rightarrow S H}$ $= \frac{1}{c} + \frac{1}{(st)^2 + 1} + \frac{st}{(st)^2 + 1}$





$$= \frac{1}{8} + \frac{5+2}{s^{2}+2s+2}$$

$$S F(s) = S \left[\frac{1}{5} + \frac{5+2}{s^{2}+2s+2} \right]$$
Initial Value Theorem: Lt P(t) = Lt $SF(s)$

$$Lt P(t) = Lt \left[1+e^{-t}(sint+cost) \right] = 1+1 = 2$$

$$Lt SF(s) = Lt S \left[\frac{1}{5} + \frac{5+2}{s^{2}+2s+2} \right]$$

$$= Lt \left[1 + \frac{s^{2}+2s}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}+2s}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}+2s}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}+2s}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}+2s}{s^{2}+2s} \right]$$

$$= Lt \left[1 + \frac{s^{2}}{s^{2}+2s} \right]$$





 $Lt \quad f(t) = Lt \quad [1 + e^{-t} (sint + cost)] = 1$ $Lt SF(S) = Lt S \left[\frac{1}{S} + \frac{S+2}{S^{2}+2S+2} \right]$ $= \frac{1}{500} \left[1 + \frac{5^2 + 25}{5^2 + 25 + 2} \right] = 1$ Hence Lt fith = Lt SF(S) = 1, Hence Fined value theorem is verified. Laplace Transform of some special functions: Unit step function:-The unit step, function also called Heaviside whit function is defined as, . - . . $ult-a)= \begin{cases} 0, t \ge a \\ 1, t > a \end{cases}$ This is the writ step quicking at t=a. It "can blue be denoted by H(t-a) or Ualt) Result: Laplace Transform of writh step durction is 3 (i) $L[u(t-a)] = \frac{e^{-as}}{s}$ $\frac{1}{2} \left[\frac{1}{2} \left$ $= 0 + \int e^{-st} dt$ $= \left[\underbrace{e^{st}}_{a} \right]^{\infty} = \underbrace{e^{-as}}_{a} (s>0)$